=

g’) FILE PATH - L:\tcs\Standard Detail Drawings\2013 Standard Detail Review\Approved\Series 1300\HW-13.08 RevD Support Beam to Lamp Columns.dwg

50mm

40mm

30mm

20mm

10mm

>
w

1 | 2 3 4

DETAIL OF SUPPORT BEAM 203 x 378 x 6 thick 3 no. 203 x 200 x 6 thick

steel end plate steel plate stiffeners

203 x 378 x 6 thick
steel end plate

DETAIL OF SUPPORT BEAM

|||||||||| N A N
\ -
~
PLAN Z 2 no. 1800 long 203 x 89 x 30 RSC
DETAIL OF SUPPORT BEAM Cotarm
\
[ 1
_ ___ 1T _ 1T _
ELEVATION T Roat R

END ELEVATION

DETAIL OF FIXINGS

RSC

30 dia. hole drilled through channel flange to
suit: galvanising shall be reinstated and
applied to the inside face of the hole to the

_\ 4 no. fixings at 300 x 300 centres to each root/ column

\ M24 x 100 long stainless steel bolt

M24 stainless steel nut

satisfaction of the Engineer prior to assembly

M24 polypropylene top hat washer

M24 galvanised steel washer

Root flange:
4 no. 30 dia. fixing
holes at 300 x 300 ctrs _

Column flange fixing as above

but inverted

Notes :-

1. All dimensions in millimetres unless otherwise stated

2. Steel plates and rolled steel sections shall be to BS EN 10025 grade S275J2G3

3.  After fabrication the support beams shall be galvanised

4. The support beams shall be fabricated with continuous 6mm fillet welds

5. Stainless steel bolts and nuts shall be grade A2-70

6. The support beams shall be coated with bituminous solution or approved similar material to a thickness of 100 microns: This coating shall be applied also to the
column and root fixings after installation

7. The support beam has been designed to be used with two roots as shown: although the roots may be fixed in any position along the support beam, the lamp column
must be located between the roots. Any variation to this requirement or any other details shown on this drawing must be approved by the Engineer

8. Dimension tabled for foundations are for guidance only. The Contractor is responsible for designing the foundations suitable for the proposed lighting columns and

for the ground conditions encountered

| M24 galvanised steel 5 deg taper washer

|
_|\.M/

M24 galvanised steel washer

M24 polypropylene top hat washer

SCHEME
2013 | D DETAILS & FRAME AMENDED | DH |PP
Birminaham Ci Council 2010 | C NOTES AMENDED CCH|mm|
, QLt STANDARD DETAIL SHEETS 2007 | B BORDER & TITLE AMENDED - [N
7 2002 | A BORDER & TITLE AMENDED - |AG
2001 - | ORIGINAL DRAWING CREATED | JJ |DU
BSI DRAWING DATE [REV. REVISIONS DRN|[PM]
SUPPORT BEAM DRAWN DESIGNER PM REVISION _H
TO LAMP COLUMNS DH 031213 | TE  osnams | PP ozmans | D
DRAWING STATUS SCALE
GENERAL NTS
FS 506677 DWG. No
This detail is controlled by Birmingham City Council. Email - Transport.Projects@Birmingham.gov.uk HW/13.08

1 2 3 4

5

6

7




